H & 0l & AHS B Ml A

el 3
NEOHE
NE=ZX EH5t (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
PSRy 6,452,515 8,829,623 A2,377,108
= 14,000
[ 25,500
= 1,035,372
Al 5,377,643
oy 6,418,686 8,727,373 A\2,308,687
= 14,000
[ 25,500
= 1,035,372
Al 5,343,814
UEFRN 243t 2,770,328 3,902,432 1,132,104
= 25,500
[ 608,009
Al 2,136,819
DEZIAMNY 3,885 4,636 AT51
203 HR=&H] 3,885 4,636 AT51
03 A=A R 3,885 4,636 AT751
OodXteltH® HR= 3,885,000& 3,885
2Ael SAA 2,000 6,200 N4,200
201 fer23| 2,000 6,200 N4,200
01 AtR2t2|HI 2,000 6,200 A4,200
OLeIZAIN, SHlEAel & 2= MA
2,000,000& 2,000
NS LASES L elH EhALY) 120,000 357,200 A237,200
[ 108,000
Al 12,000
307 glztol & 120,000 357,200 A237,200
= 108,000
Al 12,000
02 2B YA E X 120,000 357,200 A237,200
OXNSHE =S L At
120,000,000 120,000
= 108,000
Al 12,000
NA=EE FELT2l AF( 40,200 74,672 N34,472
[ 21,500
= 5,610
Al 13,090
307 @I2t01 & 40,200 68,672 28,472
[ 21,500
= 5,610
Al 13,090
02 2IZHBYAIHE A 40,200 68,672 N28,472




SN AR HHY
M2 DSOS
&elr N8R 243 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=d ®U 2aza=ae ANIALY &
o 343 Q1AH| 25,200,000& 25,200
= 14,000
[ 3,360
Al 7,840
ORd MUY 2HREXAY ANRIAY &
o #E FIS Qe
15,000,000 15,000
= 7,500
== 2,250
Al 5,250
HEHSSE TAISSLXelAtY 599,955 740,031 A140,076
307 elzto| & 599,955 679,031 AT9,076
05 212t =S 599,955 679,031 AT79,076
OLEY (Dream)dIE] A2
599,954, 1412 599,955
CheteXieldlye X 70,000 50,000 20,000
307 21201 & 70,000 50,000 20,000
02 LB AANHEE 70,000 50,000 20,000
Ooustd el SHAHE XA (REU)
50,000,000 50,000
Ottt S AHE XA (SFEHH)
20,000,000& 20,000
ASeitel WEAD 38,633 38,916 A283
201 er2 3| 33,413 33,6%6 A283
01 AtR2t2|HI 33,413 33,696 A283
OB 2ITHE AR A EZE
33,413,000& 33,413
301 2eEN= 5,220 5,220
11 dALEEIXIRE S 5,220 5,220
OgXeIUEND LSt =&
900,000 900
OLXZIUES A YS! 3o E
4,320,000 4,320
2xeldy 29 68,615 124,091 55,476
201 et 3| 25,060 29,400 A4,340
01 At22t2l] 22,960 27,300 A4,340
OgXieldle 248l 22,400
—dlE 224 4,000,000 4,000
SAEA, AIRES 78 S
2,800,000& 2,800
—IUSRAMHIA AIER
9,600,000 9,600
—3J|1EEI| gxz 768,000 768
—ROIEHIAIAE 100,000& ~ 12& 1,200
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SN AR HHY
B DROHE
&elr N8R 243 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—d2e)| AEZR 192,000 192
—ASg9y| 960,000 960
—=S8J SRz 240,000& * 128 2,880
OFHLNCIME 28 SHLM &8 Mot
A =& 560,000 560
02 S5=g4l 2,100 2,100 0
O=RdEdeIt# 22
150,000& * 12 1,800
ORdEdcIt# AIEEHl ||
300,000 300
202 04| 720 1,182 A432
01 =LHOLI 720 1,152 A432
OgXelHERD HRFA 0]
120,0002x1&»12&%0.5 720
203 HE=H] 2,83 3.477 AB42
03 A= PR FAIH| 2,83 3,477 N642
Oogxiclgd= gRFA 2,835,000& 2,83
301 LEetE2 N = 40,000 45,000 /5,000
4Bt 2a3 40,000 45,000 25,000
Oz 2 ¥ (HE3E) toldl X1
40,000,000 40,000
I FEmEAE 1,045,455 1,412,434 A366,979
== 219,195
Al 826,260
201 er23| 1,045,455 1,412,434 366,979
= 219,195
Al 826,260
01 AtR2telHl 1,045,455 1,412,434 A366,979
ORI o488 2 T2 8=
o 1,045,455
— ANz ZAeldE et  BEEH S
1,023,557,000& 1,023,557
< 219,19%
Al 804,362
—FHEANFZ2 0 - FHAUAL 2 - HE
Z 2 DIEt M
21,898,000& 21,898
ARIHEH 54 X3 20,035 20,477 N442
201 fer=2 3| 17,200 17,000 200
01 AtR2te|HI 2,200 2,000 200
OAMIHENEd?de S B84 +E
100,000 *11& 23] 2,200
02 S5=24g4l 15,000 15,000 0
OAMSIAUB N NSZFE 22/
15,000,000& * 18] 15,000
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el 3
B DROHE
&elr N8R 243 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
203 HR=H] 2,83 3.477 AB42
03 A=A 2= 2,835 3,477 AB42
OARI NN =54 gR=8
2,835,000& 2,83
ARIED Y Atel2EE I 184,608 205,120 N20,512
=S 92,304
Al 92,304
307 21201 & 184,608 205,120 N20,512
< 92,304
Al 92,304
02 2B HAHE L 184,608 205,120 AN20,512
OARIEDIY ABIE2EE XA
184,608,000 184,608
= 92,304
Al 92,304
=)l |4 N3AY 8,000 18,000 10,000
[ 4,000
Al 4,000
307 21201 & 8,000 18,000 10,000
[ 4,000
Al 4,000
02 LB HANHEE 8,000 18,000 10,000
O0I2lIg SEXA Al
8,000,000& 8,000
= 4,000
Al 4,000
ARIHZHAH 29 99,182 178,184 AT9,002
201 er23| 93,710 169,832 NT6,122
01 AtR2t2|HI 22,022 30,328 28,306
OAIHEMEH 24 16,718
— o1& 154,000« 128 1,848
—=ZAIBX S A28E 7Y
1,750,002 1,750
—uead| gxE
20,0003 «3CH+ 122 720
—=SgJ SRz 250,0003 * 10+ 122 3,000
—HAEY 700,000 * 122 8,400
OARIHZNAE HRFA S4H|
2,304,000& 2,304
OAZIHE N S228= S M&
4,000,000& 4,000
02 s3=gHl 24,088 24,454 A366
OAHEMEE 2322 16,920
—&J| € otARs
1,300,000& «12& 16,600
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SN AR HHY
B DROHE
ol NN 243 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
— ot R3 40,000 * 122 480
—QlHY23 70,0002 128 840
OAI B MAE XteF 2tel 1,944
— = Xldl 1,044,000& 1,044
—3323 % HAlbl
400,000 = 1CH 400
—iEY SYEEE 500,000 500
OAI HZMEE SHIOIX =Xl2kel
270,000& 128 3,240
OusSRLFES 326,720 327
OAd==Albl 1,057,000 1,067
OBII=AI HBMAEE 22l A2l
600,000 600
03 &A= 47,600 115,050 A67,450
OMEEZH ATHSHE(ARAZ)
12,600,000 12,600
OAt2l H M HZ23S X2
28,000,000& 28,000
OAZI M WERAZD &8st 4l
7,000,000 7,000
202 04| 4,320 6,912 N2,592
01 =LHOLI 4,320 6,912 A2,592
OARIHEMAE HRFEI|=204H]
120,000& x6&*122+0.5 4,320
301 EtE NS 1,182 1,440 N288
11 dAMEEIXIE S 1,152 1,440 N288
OAMSIHB M 2 SHAIAHIZa
1,152,000 1,182
AR HEH 8 S22 29 10,460 10,786 A326
201 fer= 3| 10,460 10,786 A326
01 At 2|l 3,800 3,920 A120
OAeIHEH g 32t 289 3,800
—=8)| YxtE 250,0002!1CH 128 3,000
—d3x EaR3 400,000 400
—ARRSI|S BUL4E
400,000 400
02 s3=gHl 6,660 6.866 A206
OAZIHE M 88 32t E32= 4,800
—&JIe= 300,000 * 122 3,600
—&=R23 50,000& * 122 600
—oHY € dalks
50,0002 123 600
OAd==Albl 1,860,000& 1,860
AR EHZH EHX A 33,000 33,000 0
& 9,900
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SN ESEN,
B DROHE
el NN 243t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 23,100
201 er23y| 3,000 3,000 0
=S 900
Al 2,100
03 A2 I 3,000 3,000 0
OAtzIsaD|Y ALE X2
3,000,000& 3,000
= 900
Al 2,100
307 elzto| & 30,000 30,000 0
= 9,000
Al 21,000
02 2B YAIHE A 30,000 30,000 0
OAlEtIg 54 XI&
30,000,000& 30,000
== 9,000
Al 21,000
AR HEH Ls&dE ZEAY 20,000 20,000 0
= 6,000
Al 14,000
201 Ler23| 20,000 20,000 0
= 6,000
Al 14,000
03 A= SHI 20,000 20,000 0
OAIZEM UsEH &4
20,000,000& 20,000
s 6,000
Al 14,000
AEUH(SHDIY) E2SXA 52,400 82,800 /30,400
201 el 22,400 32,800 10,400
01 At22t2lt] 1,400 2,800 21,400
OHHDIY S XA dA=E
100, 0003 »7 & »23] 1,400
03 A= SHI 21,000 30,000 29,000
O & BAU2
21,000,000& 21,000
307 212+01& 30,000 50,000 /20,000
02 LB HAHEE 30,000 50,000 220,000
OogHDIY ¥ XI& 30,000,000 30,000
SHRAEES 58,900 33,900 25,000
= 24,500
Al 34,400
201 Ler=23 | 43,900 13,900 30,000
= 20,000




2A:

el 3
B DROHE
&elr N8R 243 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 23,900
01 AtR2t2|HI 3,900 4,400 A500
OBHRAS| +¢
100,000 *7& »23] 1,400
OSERHEAl 4XF IS & Al
2,500, 0002 2,500
03 A2 | 40,000 9,500 30,500
OIS B EEL
40,000,000 40,000
S 20,000
Al 20,000
307 212+01& 15,000 20,000 /5,000
& 4,500
Al 10,500
02 IHB A HE L 15,000 20,000 /5,000
OS89 243 N2AY
15,000,000& 15,000
= 4,500
Al 10,500
A RIS S (LRl EE(SHIXIR)) 270,000 0 270,000
=S 135,000
Al 135,000
307 21201 & 270,000 0 270,000
< 135,000
Al 135,000
02 2B HAHE L 270,000 0 270,000
OAZIZDIY LAl E XIRAY
270,000,000 270,000
= 135,000
Al 135,000
AR HZH N SHEdtA Y 25,000 0 25,000
=S 7,500
Al 17,500
201 fer=3| 25,000 0 25,000
== 7,500
Al 17,500
03 A2 I 25,000 0 25,000
OXNSEd3t A 25,000,000 25,000
S 7,500
Al 17,500
SSZEANY 1,034,415 2,046,131 A1,011,716
= 257,215
Al 777,200
SSTEAY 521,553 1,562,271 21,040,718




SN AR HHY
B DROHE
ol SS2EAY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
101 @124H| 517,553 1,550,271 1,032,718
M ORINZZE2NSES 517,553 1,850,271 1,032,718
OS2 2AIE 212t| 517,553,000& 517,553
201 er23y| 4,000 12,000 /8,000
01 AlR22IH| 4,000 12,000 28,000
OBB2=2AY Y|
4,000,000 4,000
NASSH LACIA (X EH) 512,862 483,860 29,002
S 257,215
Al 255,647
101 @124H| 494,430 464,924 29,506
= 247,215
Al 247,215
M IIRINZENSES 494,430 464,924 29,506
ONABEH LR2IAIY Q12|
494,430,000 494,430
S 247,215
Al 247,215
201 2= 18,432 18,936 A504
[ 10,000
Al 8,432
01 At2t2ltl 14,112 15,936 A1,824
OXNSSSH LAY eEt=3H|
14,112,000& 14,112
= 7,840
Al 6,272
02 S3=gHl 4,320 3,000 1,320
Ot 32 S3R2= 4,320
—&JIes 80,000& * 122 960
[ 480
Al 480
— &= l23 10,000& ~ 123 120
S 60
Al 60
—d3es 50,0003 *3 A+ 122 1,800
s 900
Al 900
—2tell 60,0003 »2I A+ 12 1,440
S 720
Al 720
AW A2 35 & “SHEA S8 2,613,943 2,778,810 N 164,867
= 14,000
& 170,148
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2A:

Mm: Do
ool AFLARE FE U LEN=X BA (crel: g)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
05 2ItRIE = 325,000 323,000 2,000
O0IS=SAtEH 2I2t9s 23|
325,000,000 325,000
= 100,500
Al 224,500
CAlRIEE e 2SR 278,622 270,599 8,023
201 et 3| 7,200 8,800 1,600
01 AtR2tc|Hl 7,200 8,800 A1,600
O Al EE S S 2T A+E
100,000 18 & »42] 7,200
307 glztol & 27,422 261,79 9,623
03 2N EE2SHIEX 27,422 261,79 9,623
OLAIENR= 23 271,422,000 27,422
NS A Y 52435 N 134,000 136,000 /2,000
= 14,000
Al 120,000
307 @I2to1 & 134,000 136,000 /2,000
= 14,000
Al 120,000
02 LB HANHEE 134,000 136,000 22,000
O A2 d3a At
134,000,000 134,000
= 14,000
Al 120,000
CSoEXZ0l 29 88,490 110,713 NP2,223
= 26,552
Al 61,938
307 @120l & 88,490 110,713 NP2,223
s 26,552
Al 61,938
02 LB AANHEE 88,490 110,713 NP2,223
OLsetdXIZ0l 24 88,490,000 88,490
< 26,552
Al 61,938
LS NEEZE 2 98,653 117,300 18,647
= 29,596
Al 69,057
307 el2to| & 98,653 117,300 18,647
= 29,596
Al 69,057
02 QB HANEEX 98,653 117,300 A18,647
OLEA NEEE 2
98,653,000 98,653
[ 29,5%




2A:

Mm: Do
ol ATLAIRS B Y LEXE=X ZF (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 69,057
S-S FHAAE HEAS 45,000 90,000 /45,000
== 13,500
Al 31,500
402 212 X201 & 45,000 90,000 /45,000
< 13,500
Al 31,500
02 QI X2 AL EE (01X THE) 45,000 90,000 /45,000
OHIL=SA FHAE LA
45,000,000& 45,000
= 13,500
Al 31,500
HESAHL ws & OHEEH| K& 11,520 28,800 17,280
307 21201 & 11,520 28,800 17,280
02 QB HANEER 11,520 28,800 A17,280
OHIZSAAL 1= & HEEH| XM 2
x= 11,520,000& 11,520
AY2IZHI(LAeIZ 2 33,829 42,250 A8,421
Jl=23H| 33,829 42,250 A8,421
JI=23Hl 33,829 42,250 A8,421
201 fer=2 3| 17,269 17,482 A213
01 AtR2tc|HI 16,416 16,416 0
OfMEg0123I 16,416
—2ot=2H| 40,0002 x19E 12 +0.8 7,296
—=4| 50,0002 #1928 *12&+0.8 9,120
2 s5=34l 853 1,066 A213
OoRERe3 853
—get 124,000 124
—&I 729,000 729
202 04l 13,680 21,888 28,208
01 2LHoIH 13,680 21,888 A\8,208
Oge=dII20H|
120,000 x192*12&+0.5 13,680
203 HF=AH] 2,880 2,880
MU FAZSLIFAI 2,880 2,880
OFRANEgg =AY
300,000& %122 +0.8 2,880
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